
D
e
s
i
g
n
e
d
 
B

y

C
h
e
c
k
e
d
 
B

y

C
h
e
c
k
e
d
 
B

y

D
r
a
w

n
 
B

y

DEPARTMENT OF NATURAL RESOURCES

STATE OF ILLINOIS

2/
14

/2
01

1
5:

04
:0

6 
PM

O
:\

O
w

rP
ro

jI
m

p
l\

P
ro

je
ct

s\
Y

o
rk

v
il

le
 D

am
 P

h
as

e 
3
\P

la
n
s 

D
G

N
\P

ed
es

tr
ia

n
 R

ai
li

n
g
 -

 S
o
u
th

 A
b
u
tm

en
t.

d
g
n

T
M

M

J
J
F

J
J
F

T
M

M

YORKVILLE DAM - MULTI-PURPOSE DAM PROJECT - PHASE 3 - PEDESTRIAN BRIDGE OVER CANOE AND FISH BYPASS CHANNEL

KENDALL COUNTY OFFICE OF WATER RESOURCES

FR-430 Sheet 10 of 19

I
D

N
R

A

Stairs

~ Bridge

See Handrail Detail

(Looking East - Inside Face)

3
’
-
2

"
 m

a
x

.

Detail A

Detail B

Detail C
Detail D

Bk. of South Abutment

Sta. 2+01.12

5
’-

7
 1

/2
 "

4 
1/

2 
"

5 1/2 "

1
’-

1
 3

/4
 "

5’-0" 5’-0"

6"9"

5
’-

2
 3

/4
 "

9’-7"

4
’
-
6
"

2
’
-
1
0
"
 m

in
. 
to

4
’
-
6
"

1
0

"

1’-1 3/4 "

PLAN

ELEVATION

Unit QuantityItem

Pedestrian Railing  Foot

BILL OF MATERIAL

NOTES

Railing shall be according to Section 509 of the Standard

Specifications, except as noted, and will be paid for at the

Contract Unit Price per foot for Pedestrian Railing.

Hollow structural sections shall conform to the requirements

of ASTM designation A 500, Grade B, structural steel tubing.

All other steel shapes and plates shall conform to the

requirements of AASHTO M 270 Grade 36.

If the option of drilling and epoxy grouting the anchor rods

is chosen, the Contractor shall use the capsule or the adhesive

cartridge type anchor rods that have been previously tested and

given a prior approval by the Department.  The Contractor shall

install these anchor rods in pre-drilled holes according to the

manufacturer’s recommendations and procedures.  The capsule or

the adhesive cartridge shall be sealed with pre-measured amounts

of the adhesive chemical.

All post, railing, anchor devices, and bent plates shall be galvanized

after shop fabrication according to AASHTO M 111 and ASTM A 385.

AASHTO M 232 except stainless steel bolts as noted.

that will not allow the accumulation of moisture in the members.

1.

 

 

2.

 

3.

 

4.

 

 

 

 

 

 

 

5.

6. Space reinforcement to miss anchor bolts.

~ Post

2
’
’
 

6
’
’
 

2 3/4 ’’ 2 3/4 ’’ 
 1/8 ’’ Fabric Pad

 3/4 ’’  3/4 ’’ 5 1/2 ’’ 

2’’ 2’’ 

2
’
’
 

4’’ 

~ Post

 1/2 ’’ x 1 1/2 ’’ x 7’’ Bar 1/2 ’’ x 1 1/2 ’’ x 5 1/4 ’’ Bar

‘  1/2 ’’ x 6’’ x 8 1/2 ’’ 

1’’ 1’’ 2’’ 2’’ 

6’’ 

1 
1/

2 
’’

 
1 

1/
2 

’’
 

2
 3

/4
 ’

’ 
2

 3
/4

 ’
’ 

8
 1

/2
 ’

’ 

TS  1/4 ’’ x 3’’ x 3’’ 

 1/2 ’’ ‘

1’’ x 1 1/2 ’’ Slotted Holes

ANCHOR BOLT DETAILS

BASE ‘

‘  1/4 ’’ x 3’’ x 3 1/2 "

HSS  3’’ x 3’’ x  1/4 ’’

HSS 3’’ x 3’’ x  1/4 ’’

5’’ 

1 1/2 ’’ 1 1/2 ’’ 1’’ 1’’ 

‘  1/4 ’’ x 1 1/2 ’’ x 5’’

 3
/4

 ’
’ 

 3
/4

 ’
’ 

1’’ 1’’ 3’’ 

5’’ 

 7/8 ’’ } Bolt

 1/4 ’’ ‘

 1/4 ’’ ‘

 1/4 

1 
1/

2 
’’

 

3’’ 

(Handrail)

BASE ‘

DETAIL A DETAIL B

DETAIL C

HANDRAIL DETAIL

 7/8 ’’ } Bolts,

2 flat washers,

& 2 hex. nuts.

 

 9/16 ’’ X  3/4 ’’

Slotted

Holes

 

HSS 3’’ x 3’’ x  1/4 ’’

HSS 3’’ x 3’’ x  1/4 ’’

 3/4 ’’ } (nominal i.d.)

XXS Pipe-Tap

for  5/8 ’’ } mach. bolts

 

1 
1/

2 
’’

 

DETAIL D

HSS 3’’ x 3’’ x  1/4 ’’

 3/16 

 3/16 
 3/16 

‘  1/4 ’’ x 1 1/2 ’’ x 1 1/2 ’’

Drill and Tap HSS 1 1/2 ’’ x 1 1/2 ’’ x  1/4 ’’

for  3/8 ’’ } cap screws. Provide

 9/16 ’’ x  3/4 ’’ slots in ‘  1/4 ’’ x 1 1/2 ’’ x 5’’.

 

9"

HSS  3’’ x 3’’ x  1/4 ’’

4 1/2 " 4 1/2 "

3 
1/

2 
"

1 
1/

2 
"

4 1/2 "

A

4 1/2 "

In lieu of the cast-in-place anchor device shown, the Contractor has the option of drilling and epoxy 

grouting  5/8 ’’ } anchor rods.  Embedment shall be according to the manufacturer’s specifications.

9" 6"

All bolts, nuts, washers, and anchor rods shall be galvanized according 

to Vent holes

for galvanizing shall be placed in the posts and railings at locations

9
"

 5/8 ’’ } x 2’’ hex. hd. 

machine bolts with 

washer (Stainless 

steel)

 3/4 " x 3/4 " Structural 

Steel Bars

2
"

6" max. opening

5’-0" 5’-0"

PEDESTRIAN RAILING - SOUTH ABUTMENT
3
’
-
3
"

2
"

VIEW A-A

Detail D

6 spa. @ 6" = 3’-0"6 1/4 " 6 1/4 "

(Typ. each Gate)

Detail E

8’-4 1/2 "

4’-0 1/2 " 4’-0 1/2 "3 1/2 "

 1/2 " gap 1/2 " gap

‘  1/4 ’’ x 3’’ x 3’’

HSS  3’’ x 3’’ x  1/4 ’’

DETAIL E

Galvanized Steel Blank Full Surface Hinge

6" ht. x 6" open width x 0.203" thk., 

0.500" pin }. 3 required.

Zinc Plated Steel Safety Hasp with screws, 

6" x 1 7/8 " x 0.104" thk. and Maximum Security

Extra Heavy Duty Steel Padlock with  1/2 " } 

shackle.

34

6 7/8 " 6 7/8 "

3 1/2 "

Handrail height above 

nose of tread

Post 

Spacing


